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The wiits of weight and force.

Which of Newion's Three Laws Apphes: Law 1, 2. or 37

. Mass .
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2 B. Newton’s Second Law mathematicaily.
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C. The acceleration due 1o gravity = -9.8nv's .
.F=m % |D
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Will an objecf accelerate faster or slower?
If its mass is increased? ahiead L,)(
If the force pulling.on it decreases? S [G

D. The force of gravity on matter.
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How much mafter an object contains.

| Pushing & cart down the hall, when you try fo fuum it 1if fries
o go straiglt,

Q. More acceleration takes wore force,

g:__ When you push vour kniwckles info a table, it hurts your
kanckles.

% A ball furown into the ground bomnees back up.

Ifthe force puishing on if increases” F&—S
1f its mass is decreased? ‘;m){"i

Why is F = ma not entirely correct?
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More, less, or the same as on 1he Earth?
When an astronaut lands on the moon:
S
SEAWE

The astronant’s mass is:

The astronaut’s weight is:

The astronaut’s inertia is:

Without air friction, which falls faster, heavy or light objects?

A 6 kg object experiences a 3 nv's” acceleration? Find the force thar
caused this accéleration. F: YVLA,
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A 3 kg rock accelerates to the left at 12 s’ Find the get foree that

cansed tln;t F 2y O
A -2ks - 12w e -~ 3L
o 1wls? 3k5 - 2vab® = 3CA
A 12 ke'box 1s pushed 1o the lefi by a 48 W foree: -
Find its acceleration. F= wie as ‘—;:\
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Why? S Al O (3)
Tf there is air friction; which falls faster?
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How fast is the acceleration due to g{axit‘:‘;—i’ IOVV( ( SZ—

If an object falls fromrest, fiow fast wilk it be-going:
after 1 second?  dfter2'séconds? after 6 secdnds?
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Usipg the weight equation. calenlate the wei_gh_t of a 45 kgrock?
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C%lculate the m%s:. of a 10 N apnle.
F\-’U - ON
Jloiam
R i

What 15 the&"mass of a 100 Zram appfx;kxlowams” l
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What is the Weit?irt of th ove apple? ira
Fw wz W4 ﬂ /U
w\ o. 5{”) - 0. (\;5 [0wms? s |

VAL )
Whatis ffle weight of a 230 N.objdtt? ZS——O AJ

If 100 kg person weighed 300 N on the planet Zorg, what {5 the
accelaarmn due to grav 11% on Zorg? }: T W (3
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A) Calenlate the object’s net forca,

S

By Caleulate thie'object™s acceletation.
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24 N Calenilate the ob,lecr sacceleration.
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Find ihe force pulling lefl.
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12 Npuils to the loft amd 20 N pulls fo the vight on a 2 kg object.

Draw the problem:
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Calculate the object’s-acceleration. b
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